Vavan Yaraw ez — h—/-\—_ WEE‘— N . |—_|'=_—| WA IN
£15[F 2020FE6R17H =ZF18K*xH [EBEE—EFHERETBNT - BHE]
T~ = LFEEREH RS BEAKNYF7 L Z B>y F 490
X = oS & R (e x I <RILAE . MESFI R ) F 7 L it
AW B25(L) 1 = Jti& R KB (CC) | AGE(m) v ARILAIE Cs137,Cs134Y) » & 75 »#(Bqg/L) (Bg/L) ke 4 (Bg/L) ik
& T BR{E 1% T BR(E 1% T BR{E
A RB 40 0.010+0.0006 Cs137 0.0009 — 0.0013+0.0005 0.0007
— Cs134 0.001 '
37° 24'06" | 141° 02' 71"| 15.2
R T ERE 1% T BR(E & T BR{E
At TRE 40 Cs137 — 0.0015+0.0005
0.0006
Cs134
& T BRAE 1% T BRAE 1% T BRE
B */B 40 Cs137 — 0.0010+0.0005
0.0007
Cs134 _ .
37° 24'36" | 141° 03'43"| 16.9 BEB1EHK
& T BR{E 1% T BR(E 1% T BR{E
Bits T/B 40 Cs137 — 0.0008 = 0.0004
0.0006
Cs134
R T RRE 1% T BRIE & T BR{E
Citts *x/E 40 Cs137 — 0.0017 £0.0005
0.0007
Cs134
37° 25'25" | 141° 03'78"| 17.4
1% T BRE 1% T BRE R T RRE
Citisn T/B 40 Cs137 — 0.0011+0.0004
0.0006
Csl34
1% T BR{E 1% T BR(E 1% T BR{E
=M XKE 40 Cs137 — 0.0011+0.0005
0.0006
Csl34 .
37° 19'98" | 141° 01'85"| 16.7 =
& T BR{E 1% T BR(E 1% T BRAE
2M EE 40 Csl137 — 0.0012+0.0004
0.0006
Cs134
NAIS > FL—avyhyri TILw = LEEEE R BHSESRI N Y F 7 L Z b8 F 7490
4 2 Hh & 4 42 B e FUFYL e
B 280 L ka2 R ACR(C) | A H(m) Cs137,134(Bq/KgE) Cs137,134(Bq/Kgk) SRS (Ba/Kgts) (Ba/Kgks) e
1% T BRE & T RRE & T BRIE R T ERE 52 519
N N N i R = g
=P PAVIVE) EN Cs137 1.40 1.8+0.1 Cs137 0.2 hE 32m
Csl34 1.14 — Cs134 0.2
1% T BRAE R T RRE & T BRIE R T ERE = a3
= g
3 “ N . 5+0.1 . — N
20X NILQR) EN Cs137 1.76 1.5 Cs137 0.2 EN L9 SE 30
Cs134 1.55 — Cs134 0.2
& T RIE & T ER{E & T ERIE R T ERE = 479
. \\ e . _ 8 479
=P AVIZE) e H Cs137 1.46 1.8+0.1 Cs137 0.2 SE 3lan
Cs134 1.25 — Cs134 0.2
16.9 28
1% T BR(E 1% T BRIE R T ERE
SO XNIL@ EN Cs137 1.52 — — = 48lg
7 * s ' E  29cm
Cs134 1.23
1% T BR(E 1% T BRIE R T RE -
. . s _ _ = g
s PAVIVG) TEH Cs137 2.33 HE 27
Cs134 1.81
1% T BR(E 1% T BRIE R T RE -
. . s _ _ = g
A= WAVIVE) e Csl37 1.50 HE  28am
Cs134 1.29




NAIZ > FL—arvhori

T~ = LSRR R

BRESE N T UL

2 kavF7L90

% s Hh 5 1& e e T UF L ]
R EE() i3 Tig B AGRCC) | AR (m) T o e ek b Y F s (Ba/Ket) %
1% T BR(E 1% T BRIE R T ERE
> A A L) ENCT Cs137 250 BE 252
D /\ N J—
> O 'R S . Wﬁ odem
Cs134 1.92
1% T BR(E & T BR{E 1% T ERIE R T ERE 52 563
N N N + _ = g
o0 A LG EN Cs137 2.62 2.0+0.1 Cs137 0.2 hE  32cm
Cs134 2.49 — Cs134 0.2
TR B T BR{E % T IRE
=P VYO g Cs137 1.66 EE 466¢g
D /\ N _
- : ° ' E 29
Cs134 1.34
1% T RAE % T IRE % T BR{E % T IRE 2 403
. . e . = g
>0 A 8L TR H Cs137 1.58 1.3£0.1 Cs137 0.2 E  30cm
Cs134 1.25 — Cs134 0.2
1% T IRME % T RE 1B T R1E
> A X /3L e Cs137 1.90 EE 47le
D /\ N _
A * S ' &£ 30cm
Cs134 1.74
% T BRIE % T IRE 1% T BR{E
S AaANLD 4.40+1.28 Cs137 1.50 — EE 488
7 B ° ' #E  30em
Cs134 1.28
1% T BR(E & T BR{E & T ER{E
SO A NLD ST Cs137 158 EE 307e
S 7\ N J—
> A S . 'f$§ 26cm
Cs134 1.21
1% T BR(E & T BRIE R T ERE
>0 X /3L 16.9 28 EN Cs137 2.14 EE 303
S VAN N J—
v A . S . T¢E 24em
Cs134 1.65
1% T BRAE R T RRE & T BRIE R T ERE 52 540
S N N + _ = g
A X/NILB) EN Csl137 2.25 1.5+0.1 Cs137 0.1 SE 29
Cs134 1.93 — Cs134 0.1
& T RIE 1% T ERIE R T ERE
2O A N R Cs137  1.50 28 570g
S /\ N —
A ° ' K& 32cm
Cs134 1.21
1% T BR(E 1% T BRIE R T ERE
A=AV EN Cs137 2.00 B|E 398g
D /\ N J—
- : s ' E  27cm
Cs134 1.69
1% T RME % T BR{E % T IRE
0 ANLB ESTT Cs137  2.34 2R 292
D /\ N _
- : ° ' E  25m
Csl34 1.88
TR % T BR{E % T IRE
A ANLE ESTT Cs137 2.14 B8 497e
D /\ N _
>~ A R S . &E  3lcm
Csl34 1.89
1% T RME % T RE T RR{E
> 0 X /3@ e Cs137 2.89 ®E 525
>~ /N N —
b 'R S . 'f$§ 320m
Csl134 2.74
% T IRME % T IRE % T IRE 1B T R1E == 104
. . s _ = g
S0 A LG PN Cs137 4.46 1.0+0.1 Cs137 0.1 &E  18cm
Cs134 3.41 — Cs134

C s 137, 134@/KIZT IV~ =7 LFE K

(. AER FRRBEHEL X7,

0.2
Hi2x CRIE —RIERERS | SREIORTECH S GEMA! HHXI212R35%




